Maths — Wednesday 25" March - Spicy

o

Bl WORDPROBLEMS ' m

| can solve word problems.

Example

An fue cream costs 50p for one scoop and 30p % 3 =090p
10p for each extra sCoOop. 90p + 50p = 140p
Howr much will an ice cream Answer

with four scoops cost? The ice crearmn costs £7.440.

A

# Callum has B3 stamps.
48 are British,
How many are foresgn?

@ Haow marny 5cm
lengths of string can be
cut from 40 cm?

£9 A coin weighs 20g.
Haw much do eight
cains weigh?

{8 There were eight teams
at a S-a=side foothall
tournament.

Howe many plavers
were there?

&) During the football
season joe's team
scored 64 goals. Harry's
teamn only scored half
as many.

How many goals were
scored by the two
teamns altogether?

o A motorist needs to
drive 231 miles. He .
stops for petrol after 86
miles,

How much further
does he have Lo go?

a A mug of tea haolds one
quarter of a litre,
How many mugs can be
filked from a 5 litre urn?

a Three shelves each had
25 books and there
were nine Dooks on
another shetf.

Haow many Books were

there altogether?

o Sixty children entered a
fancy dress competition.
One quarter of them
came as witches,

Howr many children
wore a different
costume?

& Ross is 87 cm tall. Dee is
57 cm taller.
Haw tall is Dee in
metres and centimetres?

£ Tshirts cost £2.50 each.
Med buys a pack of 3 for
E5.75.
How much has he
saved?

Q A factory produces
655 cars. 168 are

painted white.
Howe many cars are
painted other colours?

a A serving of breakfast
cereal weighs 30g.
Haow many servings are
there in a three quarter
kilogram box?

&9 How many hours are
there in 4 weeks?

n There are 19 miore
boys than there are
girls inv & schoal, There
are 138 girls.

How many children are
there in the school?

e The top shelf s one
and a half metras long.
The battarm sheff (s
64 o shorter,
What is the combined
. length of the shelves?

3 Cherri buys 3 ice
crearmns and a lofly for
£3.45,

The lolly costs 75p.
Haw much does each
lce cream cost?



